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  Question: 1  

For a VSX configuration – Which statement is wrong? 
 

A. All Virtual Systems exist on the SMO 
B. All Virtual Systems exist on all Appliances 
C. VSX configuration is the same on all Appliances within the same Security Group 
D. Each Appliance owns different Virtual Systems 

 

  Answer: A  
Explanation: 

 

  Question: 2  
 

There are two 10Gbps dual-port NIC installed on a 6800 appliance. Which interfaces should be 
connected to Orchestrator 1 for downlinks' intra-orchestrator redundancy when using two 
Orchestrators? 

 
A. Port 1 in Slot 1 and Port 2 in Slot 1 
B. Port 1 in Slot 2 and Port 2 in Slot 1 
C. Any pair of available ports 
D. Port 1 in Slot 1 and Port 1 in Slot 2 

 

  Answer: A  
Explanation: 

 

  Question: 3  
 

What is the purpose of RJ-45 connectors located at the front panel of the Orchestrator MHO-170? 
 

A. Two Out-of-band interfaces for access to Orchestrator itself 
B. Out-of-band interface for access to Orchestrator itself and Serial Console connector 
C. 1Gbps connectivity for Security Groups 
D. Reserved for internal purposes. Not in use 

 

  Answer: B  
Explanation: 

 

  Question: 4  
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Splitter cannot be used . 
 

A. To connect single port on orchestrator to multiple Appliances 
B. To connect single port on Appliance to multiple ports on the orchestrator 
C. To connect single port on orchestrator to the same Appliance 
D. To connect single port on orchestrator to multiple port on external switch 

 

  Answer: B  
Explanation: 

 

  Question: 5  
 

What will happen in case of NAT of the traffic passing through Management network? 
 

A. This traffic will not pass correction, since it will be dropped 
B. This traffic will pass with no inspection 
C. Since Management traffic is always going to SMO, it will take a care for Correction Layer and will 
re-distribute traffic to other Appliances 
D. Orchestrator will disable NAT and traffic will pass with no issue 

 

  Answer: A  
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